
ANSWERS. 8S

(14) (2x-y)(x-5). (15) (3x + 2y)(ax + by). (c6)
(xy-z)(a-bc). (17) (x-+y-)(a2+b''). («8) (y- +
(y-i). (19) (x» + 3)(x+i). (2o)(a + b + c)(x-y).

EXERCISE XXXVI. -(Page 40). A. -(1) (x + 2)
(x+i). (2)(a + .3)( +4). (3)(x+i2)(x + 8). (4) (a 4- 6)
(a+17). (5)(P+i-^)(P+iB). (6) (xy f 5)(xy + 26). (7)
(11 -f-x)(7 + x). (8) (X + 6HX+7). (9) (x + 2y)(x + 3y).
(io)(a + 2b)(a-l-7b). (1 i)(x + 24y)(x4-25y). (i2)(m+i3n)
(m-H3on). (rj) (p-f 8q)(i3 + 274). (14) a(i + 2a)
(i>3a). (IS) 3(^ + 7) (xf 8). (,6) (x- 5)(x -6). (17)
(x-9)(x-io). (i8)(x 7)(x' H). (i9)(a-io)(a~ii).
(20) (a - 3) (a 1 5). (2 1 ) (a 8) (a - 1 3). (22) (in - 711)

(111-1511). (23)(xy-4)(xy-i3). (24) (xy- ii)(xy - 12).

(25) (a --7b) (a -13b). (26) (a-6bc) (a- i
-be). (27)

(11 - x) ( 10 " x). (28) (ax - 1 1) (ax - 13). (29) 7(x - 7)
(x-8). (30) (ax -7) (ax -14).

B.-~(i)(x + i6)(x-5). (2) (x+ ii)(x-io). (3)
(a + 26)(a-io). (4) (ax + 24) (ax- 10). (^ (a-l- I2y)
(x-5y). (6) (a + 7b) (a -6b). (7) (ni + 1 3) (ni - 1 2).

(8) (a + I5bx)(a - 3bx). (9) (x^ + ]8a-) (x-^ - i2a'-^).

(10) 3a(x + I7y)(x- 5y). (i 1) (x - 15) (x + 6). (12)
(x-i9)(x + 8). («3) (a-35l>)(a + 3^)). (14) (a-24b)
(a + 4b). ( 1

5 » (in -
1 3) (m + 2). ( 1 6) (m - 8n) (m + 7n).

( 1 7) (xy - 5z) (xy + 2z). ( 1 8) ( 1 1 ax) ( r 5 + ax). (19)
(,20 - a) (2 1 + a). (20) 5x(a - 1 3xy) (a + 3xy).

EXERCISE XXXVII.— (Page 41). (i) (x + 9)^
(2) a +13)-. (3) (111+17)'. (4)(y+0^ (5)(z+io)2.

(6) (x--^ \7r- (7) (x4-6y)'^ (8) (m+iin)^. (9)
(x"'fi2)-. (10) (a -18)=^. (11) (p-ieq)'-!. (12)

(a-i5b)"^. (13) (2a~3b)2. (i4)(a-2x)^ (i5)(2ax
-7c)^ (16) (3ani + 5xyy^. (17) (4ax- -b2c»)5«. (f8)

(4xy4-3z)2. (i9)(,-x3)2. (20) (3a- 2)'-^. (21) (a-bc^'-^.

f22)(5-4n)2. (25) ->x(a2 + 2y2) [>!-•. (24) (7x«+3yz-'*)''^.

(25)(a'^b*'^-|)2. (26) -{ x/3(ab-3)|-2. (.7) (a + b+ck
(28) (x + y-z)^ (29) (a-b + 5)'^. (30) (2in-3n~4pr-

EXERCISE XXXVIII. -(Page 4!). (i)(x2 + x+i)
(x^-x-fi). (2) (a- fa+i)(a--a+i). (3) (x- 4-2x ^- 7)
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